®

Py =Py +Pp+P,=15+0.633+1.01=3.143 W
16 7

Py 55
1= P + Py T55+3.143

=95%
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U’n:[u rs+Ru 5-53
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I, =0~3A N, =1 f=20kHz R, =
1kQ B, =0.3T <3%
U,=0~10V
1 1,
U, 10 _
I, = R = 1009 =0-01 A
2 N,
Iian _ 3 X 1 _
No==0"=0.0173%
3 A,
r.+ R, I,
U+ Uy Uy, v A,
U, + Uy 10+1
A =4 mp x10'= 10* =0.01 ’
T KANB, Y T 1 20%10° x300x 0.3 <10 =0.0133 em
5-26 A,
52402 A, =0.022em® AP = 0.0lem' MLT = 2.05cm A, = 0.4545cm’ W, =
0.63kg
5-26
W,
A, AP MLT Q K, | A, v | Al
N/AWG Fe/Cu
em’ em' cm 50C | 107 | em? em’ | oem?
kg
1 52402 7.26 0.01 2.05 302/30 2.35 0.4545| 0.63/3.12 1.42 10.022
2 52057 17.4 0.0659 2.53 1017/30| 9.78 1.53 2.05/13.1 4.98 [ 0.043
3 52167 31.5 0.516 4.23 1000/30 16.1 1.5 20.9/19 11.9 | 0.343
4 52038 65.9 2.91 5.97 315720 | 0.697 4.24 59.6/79.4 38.3 |1 0.686
4
0.75
A, =0.75%x A, =0.75%0.4545 = 0.341 cn’
75%
A =0.75x A’,=0.75x0.341 =0.256 cm’
5 Axs
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A,WSS
AXS :Tsz
S,=0.6
0.6xA", 0.6x0.256
Ay = N, = 300 =0.000512 cm’
5-22 Ags AWG 31 Ay =0.0005596cm’ %2:4294.6
6 r

r.=MLTx N, xgx 1075 =2.05 x 300 x 4294.6 x 10™° =2.64 Q)

2.64
r/R,= 1000 = 0.264%

7 P

o

P,= U,+ U, I,= 10+1 x0.01=0.11 W

8 Py,
Py <3% x P,=0.0033 W
9 P,
Po =1 r.= 0.01 >x2.64=0.000264 W
10 P

Py = Pg, + Py, =0.000264 + 0.0033 = 0.003564
11 7

__ P 0.11
7=P.+ Py ~0.11+0.003564

=97%
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